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D C B A Questions / =Uiy ( r ,ﬂ
f neisb 1L 100kg A
1600 N 1000 N 160 N 100N Weight of 100kg body on the surface of
j the Moon will be:
e Pl PSR Ak
2W=0 2.P=0 F¥=0 > F=0 |Mathematical form of first condition of 2
equilibrium is:
o i s al Tednf e L BTy
- . g What is highly desirable when climbing
Friction Speed Velocity Power up a hill?
Y P =5
4
v F a S P <P
—L——"1jsequal to:
r i P ] s Ll i | s
Distance Time Power Displacement Identify the vector quantity:
i i i e Gt Sl b JF it
1 sec 00 sec G sec o sec Least c.ount of commonly used digital stop 6
watch is:
=74 P I 1.5 ). b s Bt ] g
Convection | Conduction| = Radiation l\ggllﬁg}lolﬁr Tn gases, heat is mainly transferred by:
96.8°F | 98.6°F 94.6°F 9.86°F gz 7 KOOSR g
Normal human body temperature is:
4200 Jkg 'K | 4200 JkgK | 4200 Jkg 'K~ | 4200 JkgK™ , igner? 2 | 9
The specific heat of water is:
INm? INm INm- INm~ eain (FP w8240 70T 1o .
S.1. Unit of pressure (Pascal) is equal to:
L3 mv? | my my? mv . . !q.dn,:!/.u’-/'lu@’dV 11
2 Kinetic energy is equal to:
LS4l 3m ST £ 20N A
1207 60J 30 6) ALY

A body of weighing 20N is lifted 3m
vertically upward, its P.E. will be:
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(Part-1 :  i1.0) FED 124
Write short answers to any FIVE parts. & c-,[,l.e}‘.? &otllé&@é)’ <2
’ -é{/‘,/‘:"dr"lur_(j:{/{u u’:&l‘ﬁu(urhﬂl )
Write any two rules which are helpful in identifying significant figures.
Define screw gauge and its pitch. ‘ BESEPAS @&ﬂn@fg} G
-EUx gt (ng) (1.1 0.00003g 1 (MHZ) # ££- /3500000000 Hz an.f_/um/fu/, @i
Convert 3500000000 Hz into MHz and 0.00003g into (ng) by using prefixes.
Why Newton’s first Law of Motion is known as Law of Inertia? ?gtrlhfu{u}l’”(?}lui\?u,g{fr(df (iv)
Define force and its SI unit. _"éf..,g'/"\,(..‘/._{ SEZimygs (v)
Define the Atwood machine and write its one use. ~Z,°(‘,|L-?4..,{l(uwg£_@ /7&;.‘.5' Heot (v
(-'%.JI/LJ/C.&waﬁdl//}‘Wﬁ'd{‘/? (viD)
What is meant by gravitational field and gravitational field strength?
, S Gorud p b St e b T Ao 60§ 5 2 i)
What is the distance of geostationary satellite from the Earth? Why it also has zero speed?
Write short answers to any FIVE parts, -ﬂ&&lﬁ/’g £'IZI§¢¢,J:( -3

Define random motion with two examples. AL ysenas PSS reks (D

Draw the graph of constant speed. ~E ST 32 Gi)
Write use of LIDAR gun? &K LIDAR (i
Show that atmosphere exerts pressure. Ly Y ;'cl_écx.t" (iv)

- TV 800g VUK AL i 200em® ()
A stone of mass 800g has a volume 200cm?, find its density.
e C NS D Fn EQ S S (Vi)
Describe that when the objects float on water and when sink into it? )

Write names of four faces of Leslie’s cube. ~?f(t£w}"/(ggfﬁ.,{dﬂ (vii)
Write two uses of conductor. 2l iy L / S {viii)
Write short answers to any FIVE parts. _ﬂagmﬁ? L»Zﬂé&:.éf 4
Define center of mass. S FSAST A )
Differentiate between stable and neutral equilibrium. -Q&)uﬁ.’ﬁ /d:ﬂd)::’ul/,grl} G
Define resolution of forces. -g_:’/..g/;gf S ST ey GiD)
Define Joule and write its formula. &, Ur By A8 Uz Gv)

What is Einstein mass-energy equation and write value of “c”, _&f=.(f cm‘;.&ngu;l/(ﬁ)&l-ul.kﬂbgﬂ v)

How can you find the efficiency of a system? s/ (}*‘4/ ‘;,Tu"-/ it (“” J( (vi)

What is meant by clinical thermometer? Also write its range. s &l L ey /?’JQ:K (vii)

wéﬂj/‘u:&lzjz)u!&l{»@(viii)

-7 09 cCJlr/pé{/,fayﬁﬁchlr»c—J/rF»/

Part - II, Attempt any TWO questions. Each question carries 09 marks.
\ES S S S F RIS LT () s

How can you relate a force with the change of momentum of a body? :

g AL yie 0.006673N Ui 61/, e nludf ey bl Im LY L (L)

The gravitational force between two identical lead spheres kept at 1m apart is 0.006673N.
Find their masses.

Differentiate between melting point and freezing point.

-éﬁlobl/d/»d/chcu JJU?L‘-{{ (i) 26
Prove second equation of motion with the help of speed-time graph.
?(nﬁﬂ'ﬁf,(d4dt,&,4LtngﬂvQ ()
What would be the volume of ice formed by freezing of 1litre of water? ) .
Define kinetic energy and derive its equation. - sl & Aoy P86 J8 (L) 7
~E P IR e 5SS A L 10em 2 S 100 (L)

A force of 100N is applied perpendicularly on a spanner at a distance of 10cm from a nut.
Find the torque produced by the force.
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D C B A Questions / Uiy o
| s Ll (ois Ul :ﬁ;tlgyfpb’ajﬂq?g, |
f Lel\ilgllj%fa | Area Volume Mass A measuring cylinder is used to measure:
70 kmh"" 50 kmh™ | 100 kmh™! 200 kmh™' _:‘7"‘5”’9‘7‘;(‘-’&;)‘”%‘ 2
The speed of Falcon is: | |
s L
w= Fx/ w=Fd w=Fg w=mg ) _:%Ur/bb{g/r}”uu 3
Formula to find weight is:
K Sy L6 S F | it KTy | ISy et SIS
Lawof ' Third Law | Second Law | First Law of Rocket O 0@ ! 4
Gravitation | of Motion of Motion Motion P )
| 4 3 2 . ! \n o :Li.’u?l?b(r:/."d’{‘ 5
o5  Batds of equilibrium are:
; } N B PSS N ISP
100 N kg 10 N kg 20 Nkg kg The value of gravitational field strength 6
near the surface of the Earth is:
i Jz | Vs j~ Al e bn i g§0H| 4
Joule | Meter Second Newton The unit of energy is:
756 watt | 750 watt | - 746 watt 740 watt ie-Usidls (1hp) sbdfT] g
One horse power (1hp) is equal to:
:‘gbn@,ﬁﬂzagf/f’:“;l/.:JMi/
100130 Pa | 103100.Pa | 110300 Pa 101300 Pa | At sea level the atmospheric pressure is 9
[ about:
| 1000°C | 8000°C 600°C 6000°C et b dbr| g
The temperature of the Sun surface is:
e Ut S el g LB 7 gt S e A
300 200 100 180 The interval between lower and upper 1
fixed point in Fahrenheit scale is:
r,gu Z:/:; !"/“’ ﬂ/“ C‘,Vﬁ/l/;'((;/"u@dﬁff)‘o/r 12
Volume |Temperature Area Pressure  |Kinetic energy of a body depends upon:
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. Part-1 : Jil) s
Write short answers to any FIVE parts. -é’.:,gm/’? L»l?.légc;.é <2
DGt e ()

Write formula of least count and calculate least count of Vernier calipers.

What is accuracy of measurement of a meter rule? ?9,&/ Lf../}fl . P ke X (D)
Express 1m? into liter. Edes A 1md Gid
On which principle rocket moves? ?9V/J]J£dﬂigf~.ﬁﬁ/ Giv)
Describe Newton’s first Law of Motion. ST Uy (V)

Why sliding friction is much greater than rolling friction? ?‘aanu{ug}qcc.f /VG’JL/’;( )fi{ﬂ/ (vi)

How the value of “g” varies with altitude? ?c‘;(}nJ”iC/’JKJVLUAo{"J“g” (vii)

Define field force. : Sy AU W (i
Aeyz B lange§S 3

SFrS i e K pstulul A D

Where lies the axis? in circular motion OR in rotatory motion "
_’ag_wawiLﬁLan;uuT-éfJ/?&ﬁ)/fv’:dg/ (i)
Define gravitational acceleration. Write its value for a free falling body.
i S R AL AIE I S 318m RAKLLE 2L Gid)
Radius of a circular track is 318m. Find the distance covered in half round of this circular track.
What is plasma? Where does it exist in nature? ‘?‘Lt"lgggubf w3l p e ity Giv)
e F LK Sesi p ey ,‘/J'v‘{ W)
sl ~at 2 Qe A Lot e oo sty FE A (vi)
Why does a piece of stone sink in water but a ship with huge weight floats?
S Gttt gl fE L et 7L PUSASEU# (Vid)
How does the rate of flow of heat vary with the length of solid?.
U -ulegnGiw’»‘é@Yéwm.,;},{eulegn(f et £ (viii)
Deserts soon get hot during the day and soon get cold after sunset. Why?

Write short answers to any FIVE parts.

Define tensile strain. Why it has no unit?

N ez B Lo §S 4

L NBNE L S5RGBT O

What arrangements are made to keep a vehicle in stable equiﬁbﬁum?

Define like parallel forces. Give an example of such forces:ﬂ:{:)dl"/.{ld/ydﬂ ,g.{_y/'J;o}Ju;,Ju (i

-éd’)b‘iLL/(PM})]J’,&?JJ}}JI ¥ Fy sl Fy Lfb:);{dufé F JJ;.\'{, (iii)

A force F has perpendicular components F, and F,. Write the equations to find its magnitude and direction.

Define work. On what factors does it depend? ?§_4JIIJZWiKJI_:4{_,QJ/ S Gv)
A N T aTK 212t e Sy F LG9 U280 KLl (V)

A cyclist does 12 Joules of useful work while pedaling his bike from every 80 Joules of food energy
which he takes. Find his % efficiency.

What are solar panels? Write their uses.

Write short answers to any FIVE parts.

_"é/“;aﬂlf:’léul?wlng%/r (vi)
E OIS B JLIE 24 i

Differentiate between lower and upper fixed points of a temperature scale.
What is meant by internal energy of a body? ‘.’c‘:_:l/gc_gﬁjtj/‘v‘lp(f)'u’((viii)
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Part - I, Attempt any TWO questions. Each question carries 09 marks.
State and prove Newton’s Second Law of Motion. eSSl () 5
g ed § g ,Sakd 36000 km el G
Calculate the value of “g” at a height of 36000 km above the surface of the Earth.
-g{ﬁlol)ud/ud/ué}”c:.uJJ!/{'L‘-&; () -6
Derive the second equation of motion with the help of speed-time graph. _
ezt SL P smxSmxdam e 1.3kgm™ 550l (D)
The density of air in 1.3kgm™. Find the mass of air in a room measuring 8mx5Smx4m.
Explain the volumetric thermal expansion. _gf;yu;d/ SN s (1) LT
e UL g e/ Sk g e Z10cm e UL 100 (L) ;
A force of 100N is applied perpendicularly on a spanner at a distance of 10cm from a nut. ‘
Find the torque produced by the force.
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